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West Bengal State University 
B.A . ./B.Sc./B.Com. ( Honours, Major, General) Examinations,- 2014

PART-I 

ECONOMICS - HONOURS 

Paper ... J 
Duration : 4 Hours ] [ Full Marks : 100 

Candidates are required to give their answers in their own words as far as prc:icticable. 

l. 

The figures in the margin indicate full marks. 

� �� f.r� � Q'r'4fl <11,� I 

����fol 91� �l 

Use separate answer scripts for each Group. 

� �� � Rsif �� ffl$ �I 

Answer any three questions 

elf�����= 

GROUP-A 

mit'lf - • 

3 X 4 == 12 

a} How the market for tea will be innuenced if price of coffee falls ? (Explain

using demand and supply curve.)
. 

. 

1fN" ��!Pf 9ITTl �DI-����� � � ? ,� '3 cm�@�

�� �'tffl � l)

b) Show that sum of weighted income elasticities is equal to unity where
· weights are the proportion of income spent on a g�d.

�Clf����������Clf���-�­

� � � �9ffl �· �'5R¥f· � cR1 � I
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·c) The total cost cuT\'e of a firm is given by 

ECOA.fll1')-01 

C = 1000 + lOQ- 0·9 Q 2 + 0-04 Q 3. Find the output level that minimises 

the average variable cost of production. 

� � oo'S � � C = 1000 + IO(>- 0·9 Q2 + 0·04 Q"3ffl, � �ct 

�t-9flffl � 91HM��clt � � � ? 

d) How is the curvature of an �soquant related to the marginal rate of

technical substitution ?

ffit-9ftlfo, � � (� �P,iq�\31) � �'l'i -� 91Hl'4�1'!1 �

��?.

e) Suppose you are in-charge of a toll bridge. The demand function for

bridge croS"sing is given by P = 12 - 2Q.

i) How many people would cross the bridge if there were no toll ?

ii) What is the loss of consumer surplus associated with charge of .

bridge toll of Rs. 6 ?

� �. '5119fR �� � � � 1lB' 9flffl� � � 

P = 12 - 2Q. 

i) � $M � � � � � � � 9flffl9fffl � ?

ii) �9ffffl��6����������,�­

�?

An�wer any one questions : lx8=8 

Cll' �Iii�� ffl � 

a) How can you derive· the long-run equilibrium for a perfectly competitive

firm ? When is a perfectly competitive industry said to be in long-run

equilibrium ? 4 + 4

I!!� 9t.cfl?lf �\!i1$f.414 � � tn(.PtifH �F!PIIQIJ C� \!i1 � I �

9t.cfl?lf ffN>ClJl�\W{414 fiim � tn(41�-i '8BPll�I C� \!i1 � � I
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3. 

b) Write the expression for CES production function aod find out the

elasticity of substitution of such production function.

CEs·te.9fllfii � fa1"f{t �, �'-9ff'M � � �� �

'ff'of I

c) How can you use the indifference curve technique to explain the choice

between income and leisure ?

f.i�l"f'F � � � ffl �<9ff.t � � '6 �!1il\l� � � �

�? 

Answer any two questions : 2 X }5; 30 

a) i) How can you distinguish between the Hicks approach and Slutsky

approach to decompose the price effect into income effect and 

substitution effect? 

b) 

ii) Mention the differences between ordinary demand curve and

compensated demand curve. 9 + 6

i) � � � � "6 � � M�IVIC."1� QIR\f �<9ff.t � � '6

�-� � 9j11fc1S � �

ii) ��ct � � '6 ffi� � � � 9flflf.lrir�f,f � � I

i) Derive the short-run supply curve of a perfectly competitive firm.
' 

ii) Derive the long·-run supply curve of a constant cost industry of a

perfectly competitive firm. 7 + 8

i) 'Pf_� �� � � $1<15l�'"i Clll'51R � f.fcfi:I � I

ii) 'Pf.� �� C1l'tii \!i91HF<I� � � � f.rol �ti�.,"' .. Clll'TR CN1

f.fcfi:I �I
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. 

c) i) With one variable (actor of production identify the three stages of

production according t� returns to factor and hence explain why 

efficient production takes place in the second stage. 

ii) What relation, if any.- exists between returns to scale and the shape

of the long-ruJl average cost curve ? 8+7

i) Jid 91f,1�� �� �Yllltit-ft, 'lrcoft'IJ �c.� � � f.l1fmei

<ffif I JI� !Pft'Jf � <ffif C1f "'°' lf'f �C.� fNm � � I

ii) 1JflJl � � !INS'frt-f-11 fflttlf �.� ·� ffl � �If™ r. Cffl

��?

d) When is a market equilibrium called stable? Explain the Walrasian and

Marsltallian stability conditions -

i) when both supply and demand curves are of usual shape.

ii) the demand and supply curves both are negatively sloped?

2 + 6.1. + 6.1. 
2 2 

:crtutltH. 'S111'11C,ml ml � � � ? '6'!fll'P.fl'l '6 � � 'SBl'11Qllt 

"i�t:cr� '511(..,lt,•11 � � -

i) C1fl� '6 � � � ill"tM:crs 61i1Mf-li I

ii) C111'1R '6 • '� ,.- ·� 6t-1Mfa11 I
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fwttr - ,., 

4.        Answer ,any three questions : 3 x 4=12

a) Distinguish ·with examples between the concept:a 'stock' & 'flow variable

B1 in economics,

b) �bat is meant by cla!lsical dichotomy ?

JinP,•ii1 filfireMM "' � � � ?

c) What is 0.0.P. d�flator and how does it differ from CPI.?

G.D.P. N,a,'GHi � 'WI ? 0.0.P. N,Qr�lt.'41' � �-� 'I� (�.P.I) -�

9f1tffJ � ?

d) Consider the following economy :

G.O.P. • Rs. 6000/-

0ross Investment• Rs. 800/­

Net lnvestment • Ra.,  2.0 0/-

Consumption • Rs. 4000/-

Oovemment Expenditure• Ra. 1200/­

Govemment Budget Surplus • Rs. 30 / •

Calculate (i) N.O.P., (ii) Government's Net Tq proceed, (iii) Disposable

peraonal income, (iv) Personal savings.
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�m ��R>Jt� �l!fl � � 

� � �t-'9ff'M = Rs. 6000/-

ECOMBlf)-01 

� AA-lm� = Rs. 800 /-

� AAcm� = Rs. 200 /­

= Rs. 4000/­

= Rs. 1200/-

·��� =Rs.30/-

� �� � � � (i) � OPihr �t.� (ii) - w "''�

(iii) �stl ·� � (iv) ff� "fJP'!I I

e) What is meant by 'inflationary gap' in simple Keynesian Model ?

"fl�G1 C4�.i�� � ·,a1'iJl� ffi' � � � ?

f) . What.is Okun's law?

-e� 'fil" � RS � ? 

Answer any one question 

Cll�����'N-{: 

lx8•8 

a) Derive Aggregate demand curve from IS-LM model. How is it affected by
rise in autonomous Government expenditure ?

IS-LM � � �� � � R,(9fCf �I � � � � 1Pt"I

�������?

b) An increase in desire to save may lead to an overall reduction in aggregate
saving of. the economy - Do you agree with this view ? Explain your

answer.·

"'•� �� � � '111G "'�� � ·� � - � � Ill� :qo,�11 'l'rolf

l!l�?��I
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6. Answer any two questions : 2 x JS• 30 

a) i) Show that clasaicaJ macro-model is purely supply-sided model where 

aggregate demand only plays the role of determining the n�minal 

prices but cannot determine the volume of real economic activities. 10 

b) 

c) 

Offfl Cl( �ltf3t4Sii1 1fmili1 � �� c-llttR � ell� �� 5ffi1 

C+cli1i!NI lfiil(j($1� Fm1'f4'. � � l:lli�M ��� 1lR � 'fl'Slfff

.ifif•1�, 

ii) How is the classical full employment equilibrium affected by a rise in

income tax rate ? 

i) How arc inventories treated m national income accounting ?

5

5 

ii) Discuaa the value-added method of national income accounting. J 0

i) When is the A.S. curve horizontal according to the Keynesians?

ii) Why is the AS curve vertical according to classicals ?

i'JIPl4Sfi1 � AS C1NI � ffl U ?

5 

5 

iii) Explain the influence of differences in AS curve on efficacy of fiscal

and monetary policies. 5
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d) In lS-LM model what happens to equilibrium rate of interest, income,

consumption and investment under the following circumstances

(i) When central bank reduces S.L.R. (ii) Global financial melt-down has

made investors pessimistic about the future of the economy

(iii) Government reduces the income tax rate .but keeps the rate of interest
. .

unchanged through an accommodating monetary policy. 3 x 5

IS-LM � '6t!P1iill '!OOf �. "51m, C'el'f � '6 �H°'lt'tf �AS��

� - (i) � �� S.L.R -.fl� 1'R !Pt�. (ii) ':li,-IM �M �

� �"'.'"" �� �c. � Rffllinfl � �. (iiil �

\!IIUI .. CH � !1'f � � 'liliA�•lffi �� � !fOm'T' 'J:m � 15J"'fHlcl�

�I
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West Bengal State University 

B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2014

PART-I 

ECONOMICS- Honours 

Paper- II •

Duration : 4 Hours Full Marks : 100 

Candidates are required to glue their answers In their own words as jar as practicable. 

l. 

Thejlgures In the margin Indicate full marks. 

�� <1�<1 � � � <fl� I 

����� 91,� � I 

Use separate qnswer script for each Group. 

Answer any three questions 

Group -A 

ffi'l<st ·_ .. 

3 >< 4 = 12 

a) Distinguish between correlation· approach and regression approach to
the analysts of bivariate data.

N� '5(;� �'f �'i11?5 �� -a f.M�'t �� 11t� 911� � � I

b) The first two moments of a distribution about the value 4 of a variable
are - l ·5 and 2·7 respectively. Median of the distribution ls 2· l .
Calculate the coefficient of skewness.

� �� � mfirn � <r� 4 � � HC<l"1C"i� (distribution) !IQ/11 1!lt
moments-<.!!� � � 1J� - l ·5 �<t� 2·7 I .jf AC<l•tt.:i� 11�-<.!I� � 2· l I
�� � Ac<1•1c.:i'!I ���'Bl� 1.

c) Distinguish between discrete variable and continuous variable.

� � �<t� '5lMM.R � 11tl:IJ 911� � � I
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d) n = .10, �x2 -4oo.' x-7. Are the data consistent? Give reasons for

e) 

f) 

your answer.

n = 10, � x2 -400, X • 7. ��'O� ff �1'1' ? �� �9fe'!li � � I

Give some examples where the· median or mode rather than A.M. wol,lld
be the proper form of average.
4C�<TSf& �'1 m � � � .rn, �� q-t ,t��� � � �� ��
�91 I
Let x be a variable assuming positive values only. Show that the
artthmeUc mean of. the square root of x cannot be greater tpan the
square root of Its arithmetic mean.
� � X (.454Gi1�1Jl � � � � � � � � (x) � -q�
��.�������'51't9f'll>I���� I

Answer any one question Ix 8 = 8 
����m�: 

a) (I} Given y-68 inches, x-150 lbs, r· -0·60, n = 1000, 
xy 

CJ -2 · 5 inches. CJ -20 lbs. 
y X 

Here y is the height of persons., x ts the weight of persons. Amar's 
weight = 200 lbs. Estimate his height using regression equation. 5 
orom � y-68 �. x-150 �. r -0·60, n = 1000, 

xy • 

CJ ·-2·5 �. o -20�.�� y = ��.x =� '6�1 
y X 

��'6�200��™�'1·����i$��� 
(ll) Discuss different measures of skewness.

?IN>'f:<l�C�J� � �91'6� �1CG1lb�1 � I
3 

b) (I) Prove that Pearson's second measure of. skewness by
3 (Mean -Median) 4. · S.D. must lie between - 3 and + 3. 

3(��-��) 
·!111M � � Pearson-uJ�. � ?IN>'l:<l�C�M 91fmrt"! � , "'1IJ<I$ l"l�JI'-' 

� - 3 c.£14� + 3-ul� 1TC'fl �. I
(U) Find values of x, y and r xy 'from followtng regression equation

4x-5y+33-0, 20x-9�·107. 4 
!f'IRJ�'1 �'1 � c� x. y 1!14� r �� � �'11J � �

xy

4x-5y+33-0, 20x-9y-107.
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3. Answer any two questions 2 X }5: 30 

������:
a) (i) Show that A.M.�G.M.� H.M. and state the case when

AM. = G.M. = H.M. 9 
�QTQn����t������ l�l!l��fgi��? 

(11) Monthly Income of an employee wc;1s Rs. 800 Jn the year 2000. The
consumet price Index number was 160 In 2000 . .It rises to 225 Ln
2005. Calculate the additional dearness allowance to be paid to the
employee If he Js to be rightly compensated. 6
2000 � \fl� � � l!SIW � 800 � I 2000 � c:51� lflll �
,r�-.o, � 160 if!<I� 2005 � � � � Z25 I � � Wf t�
ffi9f.1'1 � � � � � '51N>H1'e � � m � � �'rn �

b) (i) If the number, mean and standard deviation of two sets of
observations of a variable are n, x1, o1. and n

2 
•
. 
x

2
, a

1 
respectively. then show that 

2 2 · 2 . 2 2No • "1°1 + "2°2 + "1d1 + "2d2- -
where N -n1 + n2, d1 -x1 -M. d2 

-x
2 -M

M = mean of combined set of observations. 
o- S.D. of combined set of observations. , 7 
� � � �:r�: ��c-rn ffl�-.0,, � � '<3 � � � 
�� n, x

i
. 01<.Q<f� "2· x

2
. 02�� � � 

2 2 2 2 2
No • "1°1 + "2°2 + "1� + "2d2- -
� N-n1 + n2, � -x1 -M. d2 -x2 -M

M = '1PirM'-' 'G� � � 
o- '1PilM'-' �� � � I

(U) In a batch of 10 children. the I.Q. of a dull boy Is 36 below the
average I.Q. of the other children. Show that the S.D. of I.Q. for all
other children Is at least 10·8. If this S.D. ts actually 11 ·4,
determine what the S.D. will be when the dull boy ts left out. 8
10 it�� ..q� � �afJ '°'"'!Ni� u1� �� � u·.Q.J �fiit�m

��C�36� l�Ql��ffl������
10·8 m I �'Pfl:'lf' \fl�� � Wf 11 ·4 �. � 'oltl'!Ni?I <lli:1<11C<fi <1111
������?
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Year 

(�) 

2000 

2005 

d) 

(i) 
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Flt a &tralght line trend to the given data by the method of least 
squares. Then estimate the production for 2010. 6 + 2 

W <l'if 9fq;� � ffl�� C�<lS �� ��� �� f;tcfu � 
20 l O � � �e,9fl\T� f;jcfu � I 

Year: 

(<!'-�) 
2001 2002 2003 2004 2005 2006 2007 2008 

Production ('000 tons ) 

iS'-� ('000 t-1 ) 
125 128 133 135 140 141 149 155 

(11) "Marshall-Edgeworth Index numb�r Is a good approximation of
.Fisher's Ideal Index number." - Verify the truth of this statement
from the following data. 

· · 
7

"Marshall-Edgeworth� ,i�� � �<I� Fisher's Ideal� ,i�� 1l'FI
� if>l�qSl�I" - � ��f?f � <l'&�Jlh � -� I

Rice Wheat Jowar 

( 611'1 ) ( 'lf1I ) (�) 
Price. Quantity Price (Rs.) Quantity Price. Quantity 
(Rs.) ('000 ton) ( 1!111 ) · ('000 ton) {Rs.) .rooo tonJ 

( 1ffll ) . ffl'1TOOO t-1 I "ffilll1'1 {'000 t-1) ( lff1I ) ffl'1 ('000 to! ) 

9,3 JOO 6·4 

4·5 90 3·7 

(i) What Is co-efficient of variation ?

��<ltaf?

11 5· l 5 

10 2·7 ..
3 

2 

(JI) If ax+by+c-0 Is the relation between two variables x and y then 
find the correlation coefnclent be_tween x and y . 5 

� W6 � x �<I� y-?l �� � ax+by+·c-0 � � x l!l<I� y �

�����C<l'?l� I. 
(Ill) What do you mean by a time series ? Name different components of 

a time series. Reduce the trend equation Y
t 

•2036+56t ( origin at 
1980 and unit of t Is one year ) for yearly totals, to quarterly trend 
equations. 8 

� "1rn <I"� � C<IWrn ? 1!14 � "1rn?I � �9ft��� .:«11 �� 
y

t 
= 2036+ 56t ( 'll� �e,,i <le.'Jffl 1980 \£1<1� t-1!1?1 I!!� l!lif> <1e,� ) I!!� 

<lte,ffi trend �'l, � ��1M4 trend �'CC'f � � I 
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Group• B 

�,t-11 

3 X 4 = 12 

a) Explain clearly. what is meant by saying that: U is a positive monotonic
transformation of W when U and Ware utility functions.
U � W�� ffl �. ��� �� ( � U i11<f� W� �11Ct11� �"'(111i<!S)­
� � � � � �cfll��

b) Consider the uUUty function U-x0
!

l
- Show that the function is strictly

concave ( downward) for all values of x and y Jf O < a < 1, 0 < b < 1 and
If (a+ b) < 1. What shape docs the function have for (a+ b) = I ?

� � JI� t� �9f'ff � U -x0
y

b I ONFf � x 111�� y�� � �
���Afitwsetcq� (��) �o <a< 1. o < b < 1 ���
(a+ b) < 11 vfit (a+ b) = I�.� �9f'ffftff � � ?

· c) Total revenue from the sale of a good ts given by the equation
R -1 OOQ-Q2 where R denotes rev;enue and Q denotes quantity.

• CalcuJate the price elasticity of demand wh�n MR Is 20.

� acu MJ!'tJ!� Vl"f !ti� cl$ c��A� �� � R-1 OOQ-Q2 �� R �
c�f.sA� I.Q�� Q � 14ai-tJJ:1' � 1 � MR = 20, � � lftil� �1'ffll
��I

d) Determine wh.ether the following functions are homogeneous. If so, then
what ts the degree of homogeneity ?

U> z-j!

(U) 

(t) 

(U) 

2 

z-EL..+2xw.
w 

z-Tx;

2 
z-EC..+2xw.

2+2 
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e) State the Euler's theorem .. For the Cobb-Douglas production function

g·-MaLl-u, A>O, O<a<l. show that Euler's theorem Is satisfied. 3 + l

'6� ��� �� � I C� Cll, <fi<1,-l.5� ��� ��

g.,.AKo.Ll-u,A>O, O<a<l �1'�'6� ���� I

O Gtven C-200+0·75 (Y-T). I •200-25r. G-T-100. Derive the equauon

of the IS curve and Its slope. 3 + I
. 

cirom � C-200+0·75 (Y-T), J-200-25r. G•T•lOO I IS C1f� �'1

'6 '61af �'TI? � I

Answer any dn� question l x 8 =8 

a) (I) In a perfectly competitive market demand and supply curves of a

commodity are as follows 

Find the consumer surplus at the equilibrium price. 

(11) The marginal revenue function of a competitive firm ts gtven as

·MR• l 5-3x2 . What would be the demand curve of the firm In the

market? 4+4 

<Pi_'l'�����C1'N,M��ffl� MR-15-3x2 I 

��.��C111fflt�� 



3. 

b) Suppose that a consumer'a Income ts payment for work performed by

him. Show wtth the help of the followtng utility function

U-Ly-0·1L2 -0·ly2 (where L denotes leisure time enJoyed and

y denotes Income.) how the opttmum amount of work that he performs 

can be derived from the analysts of utUlty maxlmlsatJon. 
. . 

�. � � Q � � � • , ·� "1"11 � � � 

\1"1c�1fi)'.b1g �qqF�C'ff lit� "1teln l1m � A:tfilfq �91cc1tfiNl1 �""'"�g � 

�· ·, U-Ly-0·1L2�0
·
ly2 � L '1ft � 'l1l11tCSS \JI�'. y .00 � 

��I

Answer any two questions 2 )( 15 D 30 

a) (l) Assume that the production function of a firm ts 
• 

If the prices of the Inputs are equal then show that the ftnn wtll uae 

equal qua.nttues or x1 and x
2 

. 5

q-../9 x1 + ../9 x
2 

l1fit �'-� t9fff'Mm lffll � �. � � Cll � x1 ��� x
2 

�

91fihl1C'f � � I 
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(U) Obtain the equtllbrtum values of y and s for C-25+0·7y and

l-5+0·2y.

WhaJ will happen to equUibrlum s If autonomous c falls to 20 ? 

Explain your apswenn economic terms. 3 + 2 

'BBl>tl$fJ � y l.flcf� s 'I� ��'I � � C-25+0·7y l.flcf� 

l•5+0•2y I 

� �� �� 9ffflll1C1 C � � 20, �.��$.fl� ? �9Fffil 

ffl �� � �'41Jt � 

(Ill) The average revenue Is given as p-10-q for O < q s 3 and 
p•l3-2q for q > 3. Is the average revenue curve continuous ? Is 

the corresponding MR curve conunuous? 3 + 2 

:a·l3-2q � q > 3. 

b) (l) Consider the following model:

C • 15 + 0·8 ,( y-T) 

T = - 25 + 0·25 y 

1•65-r 

G•G 

L•5y-50r 

M = 1500 

Determine the IS and LM equaUona., Det.erml.oc the equilibrlum 

· level of y and r ln terms of G.

For which value .of G government budget ls balanced ? 2 + 2 + 2 + 2
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�-.qp:JIL •. 

(U) · . Define the .(tQDcept-0f local. and gJob.ali �um. 4 

Determine which of the following funcUons are strtetly convex or 
. ' . 

concave. 

y-9x2-4x+2

r-a�·-4;r.e.2

y--ax2 +3x ..

d) (I) The e.quUlbrttuJJ condtUon:s for three related markds are glven by

llpl -P2-P3 •Sl 
•'Pi +6p2 -2p3_

•26.
-pi -2p2 +7p3 -24 

.. Using matruc 1f)verslol1, :find the eq1.1llibrl'IUll .price for eacb market..

� '-P"•"lf.k <INMlt.111 !¥1Utlti0t .,.,fit ., :

1 lp1 - p
2 

-p3 •31
-p1 +6p2 -2p3 •26
-:-P1·-2·p2 +7P3 .. 24

"'*• �"'lffi'bcp'SIC'ffl �. 'INIGt:I 'Bli'iliiJ ���CJ�· I 

4 

8 
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(U) Consider the following partial equilibrium model of a perfectlycompeUtive market

Suppose a Jax o,f t per unit of prpducUon imposed. What is theeffect of the lmposlUon of a spectflc tax on the price of theproduct ? Determine the value oft that Will maximise the tax yield.

3+4 

qd -a+bp, a>O, b<O 
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